G 10 (&FBPL

N\

g (k)

#3800

2200

KEMHO1225% 1

J

o JL _ 25
[@N]
(D_
2200 ey N
70 1020 20 1020 70 A
| | :
M I 1 I 2 1 M LO ,g
w0 =—|—2© o~
8 Dc]E/ a[ac g I <t
o o By | T I:/I T T T 1 PR
2| ]E a[ ord g
%-- Il T il % {BEAAX 1710 ORFHAR 173 SHEAR (/10
/ \ / /
o / U
3 VN =T & A 7
- B8 L Bk & # E
BT ame. BeLBAEOB (1/20 1] orom | 27000 oniaey | BReo & nEnmes
= 150 33031x31xt1.0
A BROKZIESETETT, 5 % 2 & 3. SCH -
30 90 30 31 mEcUuR 422 ;
4—16x 24 60 4R B B 050x50x 1.6 STKR400 )
L0 N o 6| w2 2 8 t3 A7V A
20 ol = &,\ N 0 7| acykw $15 ’
31 ‘_L ~ ~ 8| # & 8 t4 "
[’ \] - 9| 2 2 =8 t3. t4 ]
(SN o oi—=—=1 || If ol 8 0] cvIynh $12 BEREDD - &
“ e il I 2| = Nl € v v 6. 420 ,,
B — 12 %L BZEL8 t4 SPHC ,
@/ o 9 ¢ @ = 3] 8 L & 413 SGD ;
L _ \_ J ™ 14| 9 n47 PVC
— 15 ETT v Y M6 AFYUA
)RS 1’5 — 16| 8l v ¢y 4x20 )
HHiE ] \‘ HECEDE M8 65 4,685 FRER® -
@ 18 v M8x 75 ATYUVA
I 19 ) M10x 75 4.618% BREDD - &
50 39 —@;\ 20| +t3234h2Y M8x 45 ATYVA
20 MBX 75 2 B 32 12 &
Sl @8 2] 5 < ¢ 2 M4x 18 A7V A
=3 T - 2 23| rHhovxey 7 %9 AR L
[ 2! %I $ 24 [#fi~—A7U- 150X 150 SPHC—P BRBND > ¥
! iy ! [ ! N . . 25| 7un-gut | MI12 (BA»AL) i
\ / ! ! 26 mft &N b M12x 30 4.618% ]
¥ 1 REEBBYy b, BHRABATET S,
150 ‘ , ] ¥ 25, 200#MA-ATL - MCBBINTOEHA (HHFR) .
REEEE (15 ! L ON=RTU- REBR (s



